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(1) 2496 (2) 2601 (3) 160  (4) 2000
(1) 52X 48 =(50+2)(50 —2)
=502 — 22
=2500—4
= 2496
(2) 512=(50+1)?
=50%+2x1x5041%
= 25004 100 + 1
= 2601
(3) 222—182=(22+18)(22—18)
=40x4
=160
(4) 1052 —95% =(105+ 95)(105— 95)
=200 % 10
=2000

1) 200 (2 14 (3 4
(1) 22422 —24=(z+6)z—4)
o T, KD2ZADEIX
(144+6)(14—4)=20X% 10
=200
2) ' —y’=(z+y)z—y)
£-oT, KkKDBZADEIZ
(5.74+4.3)5.7—4.3)=10x%x 1.4
=14
(3) 2’ =2y +y’=(x—y)
£-oT, KkKDBADEIT
3
=4

20
(z—1D(z+3)—(z—3)(z—5)=z?+2zx—3—(2*>—8x +15)
=10z —18
£-oT, kDEADEIX 10x3.8—18=38—18
=20



